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BOTANY

Paper 11
Time : 3 Hours Maximum Marks : 100
Note — Attempt Five questions in all. Question No. 1 1s

compulsory. All questions carry equal marks. All parts

of a question must be answered together.
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1. (@) Define the following terms :
(i) Aneuploidy
(ii) Euploidy
(iii) Autopolyploid
(iv) Allopolyploid
(v) Trisomic

(vi) Nullisomic.
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Distinguish between mitosis and meiosis. Also
explain the molecular control involving check points

in cell cycle. 2x10=20
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Discuss various theories put forward to explain

mechanism of opening and closing of stomata.
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Write an account of physiological and morphological

changes accompanying fruit ripening. 2x10=20
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Discuss the salient features of Genetic code and

experimental evidences in support of each of them.
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Discuss Mendel’s laws of inheritance. Why did he
use pea as his experimental material ? Briefly

outline the experiments conducted by him. 2x10=20
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the structure of nuclear pore complex

(a) Describe

with emphasis on nucleolar proteins.
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(b) Give an account of structure and function of

endoplasmic reticulum. 2x10=20
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(a) Describe the various techniques used for cell study,
and what information can be generated from each

of these techniques ?

(b) Explain the various strategies adopted by plants

to combat water and salinity stress. 2x10=20
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Distinguish between C5 and C, plants with special

reference to their unique anatomical features.
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Discuss the role of nitrogen, phosphorus

and iron in plants along with their deficiency

symptoms.

Write an account of forest vegetation of India.
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Discuss in detail air pollution and its causal

agents. 2x10=20
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( 6 ) Botany-II

Write an account on structure and components of

ecosystem.
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Write a note on discovery, physiological role and

commercial applications of cytokinin. 2x10=20
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